!

i g

@ T WS STNGUS, QERIGT Pl UF 01459 /3-5-2, fasiid 01,/07 /2021 & I[OR ARs
JEARIYYT T4 SHDI 10 T 05 TE-IW@A 3G WIahar 520 U /R0 @ 4,93,670.00 TG T 2024—25 B

M&fmw—wmmﬁw,ma%mm—gmmﬁﬁm

dorrel ae foie dler Art B fmior 8 0.360 20 @ | @1 IR aifrd Bl & ohe fater v @
T |

‘Hﬁwmg&@w &3 B AT~ ARMRT 39 99 4 3N 8 $H. 131 SFBA- 0360 X 2 = 0720 20

%0 | faaxor SPIS =64 g1 (9 20)
gerq q¥— AW Hqar wrd
1 ﬁm’ ! “,I R'S é Tﬁ%ﬁ anl S m“ ; @?ﬂ;@g gf 2o 1118.00 1118.00
2 |87 @ HTS (ARRYT i) gfd 20 1908.06 1908.06
3 a?—i Oﬂ?xfg 0?0% sftt 20 150 Rotflo WfY Bo) gfy wofo | 745.72 60403.32
4 [0 @ Pa (20 yfdrera afoqRe wflRka) 104 iy gfar dig 19.00 1976.00
7 |TsS1 ga[ a1 (0.30x0.30x0.45) gfd TS 12.48 13728.00
*uﬂ NIRGTYT DOTd
HeX ATl 300 070 (300x104.36=31308) afr 2
8 | b aebasins 0 0 31308.00 31308.00
9 |fFieor gfear gfal 20 805.00 805.00
SLS L 111246
10 |dlemery fAsrT vd 3R BrRi—2 gRer gfd 20 2225 2225
11 |qedie Qd iferdiaxe— 0.50 gfaerd gfd 20 556 556
12 {5 BT HRI-0.50 Ufererd gfd 20 556 556
13 qw e_:;zji'r lem]I ! "q_\,“ %@Tﬁﬁfm faer, gfd 20 1112 1112
14 [BRITE T — RN, BSIAR /FFSIIR —1 GhIerd gl 20 1112 1112
15 |39 3NHRAD TI— 1 gfder gfd 20 1112 1112
ger ¥ &1 AT 117921
2 | ad— garigr orf
1 |TSer WRE gfd T 2.27 2497.00
2 |Pprer Aiferdl # 8T, BISAS SIeT 9§61 Q)1 yfcr oo 297 533.45
3 [dly @ drHa (20 gfaed afiys afzd) 104 o gfer oy 5.02 522.08
oy gar .
5 |ared gR1 50 faflo 8 & AT g sFmaifeT |fka gfcr ol 9.35 10285.00
6 |[RiRarst gam 3 faowo ufd diy 8.00 8800.00
7 |dter Rgor gfa g 4.54 4994.00
8 |[FRE—Ters yorw I gt diy 3.12 3432.00
9 [MRE—T=TE fadha ar gfcr e 2.72 2992.00
10 |1 / G gfer e 0.35 385.00
QW q IF—I1T A9V a8 § 8 WG (PH W W 5
) UX) (9884 T3 W 8 M) /5 B0=15814
12 |5 B0 TP AR —1 3iAF (F0 15814)
13 |5 80 ¥ 3% = 10 B0 TP ERIV- 1 A gfd 80 15814.00 15814.00
14 |10 B0 ¥ 1P 20 B0 TH ERIYY — 2 P

o —

(1%



0 faaq=or 3PS & | g @R 20)
15 [grer darel /ORaTS @ aTeR 4 W0 USl W BRAl gfcr 20 245.00 245.00
_RIQUT i UIGiod w9 | S arEr A
> |fiRRiT—gfiT 7 eaea B ufar 20 1247.84 1247.84
17 [qerRiqur & arata Ui R0 450 BT @1 U0 HR gfr g0 1.08 486.00
JU—ART 52233.37
18 |ouid TG AMcraidRo— 1 Gfrerd afar 2o 549.85 522.33
19 |#19 BeamT HTH—0.50 UL gfar 20 274.93 261.17
20 | a;;az m Sfjagé%m e, gfr 20 549.85 522.33
21 [Grafed @g — IR, BSAR /HFCdaR —1 Gl gfd 20 549.85 522.33
22 (30 MBS T 2 ufaRE gfcr 20 1099.70 1044.67
23 |91 S T (3x4WIE) Helle BRI gfir 20 L.S. 1000.00
fadra af &1 A 56106.00
3 g ad—srgRer SRl (o av)
TG g [WG—XWT A9 Y A 12 A1E (FF A A 5
' |2 UR) (9884 TR W 12 HIB) /5 50=23721
2 |5 20 % GERIYUT —23721
3 |6 20 9 10 B0 TP TP JERIYYT — ufd 80 | 23721.00 23721.00
4 |10 80 W 20 B0 TFH TP JERIYU —
20 gfdrera ol @ afgfcd (A 9 S T gam @
5 s Qo P Auer sfe FRT AT SR AR gfay o 42.17 9277.40
afegfd R Hie W FR fHar S
6 |FRE-TSE yoM R fd g 3,12 3432.00
7 |PrE—rers fadia ar gfar dig 2.72 2992.00
8 |gren diaTet /BRare @ dre} 4 Hio yedl Wb AT gfdl 20 245.00 245.00
IR 39667.40
9 [qeuid v iferdiaxui—1 gfed gfa 20 332.16 396.67
10 |39 P9 BRI—0.50 HRier gfa 20 166.08 198.34
g [FERNT &1 o) FrRT v e &g e foe, gy 20 332.16 396.67
JERETT, 384 9 I TR I —1 glaed
12 |pRITed @Y — I, BEAIR / ATEIIR —1 Hiererd afdr 20 332.16 396.67
13 |3 3HRAS @I— 2 ufera gfa 20 664.33 793.35
T a9 AT 41849.00
4 |agef ad—srReer sl (g av)
SW—G g IG—IRIIG 9] 99 § 12 HAIE (HF | 9 5
' 2o WR) (9884 T | 12 HIE) /5 80=23721
2 |5 B0 G% FERIYU —23721
3 |6 20 W 10 B0 TFH TP GETRIIY — gfd 2o 23721.00 23721.00
4 [10 B0 W 20 B0 TP TH FERIYT —
10 wferera delt @ eafergfe (dhr @ PHT T g @
5 |aeg Aqur HRf Rger wAE R fra wRm) arafds gfty ey 42.17 4638.70
afogfct eFER #d W BRI fda s
6 |fRE—TTerE yem ar gfe e 3.12 3432.00
7 |FPRE—reE g ar fd g 2.72 2992.00
8 |Ren <YaTet /BRATS B qTER 4 W0 USEl 1B BRAl gfa 20 245.00 245.00




&0 faazor ECAE] 4 NI (U 20)
| 3 SN 35028.70
~ e ud aiferdiavui-1 i gfd 20 292.21 350.29
10 |57 $edIl BRI—0.50 Yl gfer 2o 146.11 175.14
1 R & ) ) vd e 8 @t R gfiy 20 292.21 350.29
YERWME, 389 9 I W Y —1 Yferd
12 |FrEfel 28 — RN, B / HFeddR —1 gfaerd gfar 20 292.21 350.29
13 (31 MHIIP TI— 2 Ui gfd 20 584.42 700.57
Tgel af @1 Irr 36955.00
5 |yew ad—srravr & (gfa ad) '
. GG J YG—IEME 9T a9 § 12 71 (H9 9 P9 5
20 WR) (9884 X W 12 HI®) /5 B0=23721
2 |5 B0 A% FEARIUT —23721
3 |6 20 9 10 80 TP TD JERIYYT — gfd 20 23721.00 23721.00
4 |10 20 ¥ 20 B0 TP TP GERYT —
5 |FRIE-TSTS ¥eM ar i g 3.12 3432.00
6 |FriE—TeE fad IR i die 2.72 2992.00
7 |3gRe&N <A/ BRATS & dT8R 4 W0 USE) WIh Bl ufer 20 245.00 245.00
SU—IRT 30390.00
8 |qcdich Ud Sifireldievui—1 uRrer gfd 20 252.26 303.90
9 |5 weuor HRI—0.50 Hfera gfa 20 126.13 151.95
1o TR &1 o R vd frfteror 2 e faran, ufay 20 252.26 303.90
REREME, 399 9 37 R F —1 Ul
11 |PrIfel & — WIFY, BeddR / AYedaR —1 gferd gfar 20 252.26 303.90
12 |31 MRS @I— 2 gRIed gfcr 20 504.52 607.80
ggq ¥ &1 9T 32061.00
6 |ycq qi—3REY S (g o)
: Q@G G YG—EG 90T I H 12 A (F9 A DA 5
20 UR) (0884 TX W 12 WIE) /5 80=23721
2 |5 20 T® FERIYY —23721
3 |6 50 9§ 10 B0 TP TP JETRIIIT — gfd 20 23721.00 23721.00
4 |10 B0 | 20 B0 TPH TP JEARIYUT —
5 |FRIE-TSTE yom R yfd i 3.12 3432.00
6 |Frig—Ters fad ar gfer ey 2.72 2992.00
7 |ReEN <ard /URaTS @ qTER 4 W0 YS! |k AT gfd 20 245.00 245.00
J9—ART 30390.00
8 |qeaid yd siferdiaRui-1 ufiera yfd 8o 252.26 303.90
9 |5 Peumr HRI—0.50 Ul gfa 20 126.13 151.95
o [TARITOT &1 @I R v Filervr £ are v, gfa 20 252.26 303.90
RERWME, 399 9 3 W F9 —1 ghea
11 |[FRITT @ — RIFEN), SRAIR /AIFeddqR —1 gfasrd gfd 20 252.26 303.90
12 (39 RAd @a— 2 wfoa gfd 20 504.52 607.80
yeH 99 1 9| 32061.00




faa=oy SPIS w e=RIRT (U 20)
7 |qa ae—argRavt s (UEH ad)
e 3 G XG—<@E 9V a9 ¥ 12 A6 (@9 @ P 5
" |20 W) (9884 TR W 12 HIE) /5 80=23721
2 |5 B0 % JERIUT —23721
3 |6 80 ¥ 10 20 TP TP _JERIYY — ufd 80 | 23721.00 23721.00
4 |10 20 ¥ 20 B0 TH TPH FEARIYUT —
5 |FRIE—TTSTS werM R gfd drer 3.12 3432.00
6 |PrE—TerE Bdm ar gfer dig 2.72 2992.00
7 |gRen 91 /ORATS B AN 4 o YSS) HIH AT gfar 20 245.00 245.00
' S| 30390
8 |yl d AferdiaRv—1 gfier gfd 20 252.26 303.90
9 |5 e HRI-0.50 Uferd gfd 20 126.13 151.95
1o |TEIRYTT & I R vd frdierer 2 e far, gfer 20 252.26 303.90
RN, 399 9 3 W II —1 gfasd
11 [Frafe T — IR, B8R /A dqR —1 gfaerd gfd 20 252.26 303.90
12 |3 NMHfAd g— 2 gferd gfr 20 504.52 607.80
wH a¥ BT N7 32061.00
8 |arey ay¥—3rNeT SR (FeH av)
{ SE—Y g IG—IGId A9 9 H 12 A8 (B9 A BH 5
20 W) (9884 TX W 12 HAE) /5 80=23721
2 |5 B0 A% EIRIYUT —23721
3 |6 80 W 10 B0 TP TP JERIUUT — gfr 20 | 23721.00 23721.00
4 [10 B0 ¥ 20 20 TP TP FHARIIUT —
5 |gReT <iaTel / ORETS @ 918X 4 M0 UTE) W% Bl gfd 8o 245.00 245.00
JI—AT 23966
6 |qeaied Ud iffeididRor—1 gfderd gfd 20 239.66 239.66
7 |sm wear sri-0.50 ufoe gfd 20 119.83 119.83
g |TIRI &1 A FIRE ¢d frlerr &g are fawma, gy 20 239.66 239.66
REREME, 389 T 3T W I —1 gfawrd
9 |FPRfa &g — RIAY, BSIR / AifeddR —1 gfagd gfdr 20 239.66 239.66
10 (3 3NMHRAG I— 2 Ufoerd gfd 20 479.32 479.32
11 |F0¥0 — 3647.72 3647.72
3rcH qy BT AT 28931.85
9 |99 qi—srReT SRl (Fww av)
s Q@ T XG—=G[T VT qY H 12 A1E (BH | DA 5
20 UR) (9884 TX W 12 HIB) /5 80=23721
2 |5 B0 T& FERIIUT —23721
3 |6 80 ¥ 10 20 TP TP JHARYT — gfd 20 | 23721.00 23721.00
4 10 20 W 20 B0 TH TP FEARIYYT —
5 |geen d1arel /ORI @ TaR 4 W0 YS! |IE HRAT ufd 80 245.00 245.00
Y- 23966




3 |6 80 9 10 B0 T TP JERIYIT —

faraxor IHIS RS AR (Ufa 20)
E§= wd a1 giea gfer 2o 239.66 | 23966
“Rsam HR—0.50 IR i 20 119.83 119.83
= & B Rl O e &g are fawmm, yfy R0 239.66 239.66
TvEE. 399 9 39 ® 9 —1 ufava
== = - Y, SRR /e’ —1 g gfa 20 239.66 239.66
7 I =a— 2 e gfd 20 479.32 479.32
: — 3647.72 3647.72
a9 9§ F1 ANT 28931.85
T T B (e ad)
i::.--.——;am—?@raﬁtmaﬁﬁ 12 W8 (@H A & 5
=0 79) (9884 IR | 12 WIE) /5 20=23721
5 20 % gEIRIYY] —23721
& 20 9 10 30 OF TP JERIYIT — gfd 2o 23721.00 23721.00
¢ 110 20 ¥ 20 B0 TP TP JERIYY] —
5 |gRet A9 /ORATS B 918} 4 HI0 Ueel B PRAl yfa 80 245.00 245.00
JI—ANT 23966
6 | U4 ifrerdiawei-1 gfierd ufd 20 239.66 239.66
ST BTl BRI—0.50 Hfergra gfd 20 119.83 119.83
AR &7 1 e o Pl gg aw o, gfy 20 239.66 239.66
@G, 399 9 I WR ¥ —1 gfa9rd
PRI I — FIFN, BISIAR /AUYSaR —1 gfaera gfd 20 239.66 239.66
IR IMHRAG - 2 Jfaerd gfd 20 479.32 479.32
070 — 3647.72 3647.72
TYH a¥ &1 ANT 28931.85
THIGY qY—3REYT B (aq av)
QXI— G G—I@T AUV a9 § 12 AT8 (9H 9§ P4 5
20 TX) (9884 &X W 12 WIE) /5 20=23721
5 80 TP JERIIUT —23721
6 80 ¥ 10 B0 dF TP ETRITUT — ufd 20 23721.00 23721.00
10 80 ¥ 20 80 TP TPH JERIYT —
ReTl daTel / ORATS S aTeR 4 W0 uSd) AP AT gfd 20 245.00 245.00
JY—RT 23966.00
TP Td iferdieRv—1 R ufd 20 239.66 239.66
ST BT BRI—0.50 Ul gfd 80 119.83 119.83
AR &3 A FRE) vd Frleor 3 are e, gfey 20 239.66 239.66
YEREE, 389 9 37 R I —1 gfoerg
PRITAI G — T, TSI/ HFESIIR —1 gferera gfd 50 239.66 239.66
10 (379 INMHRHAB aRI— 2 Wk gfd 20 479.32 479.32
11 [F0%H0 e 3647.72 3647.72
UHTIRY a9 BT AT 28931.85
12 |gTe¥ aN—3rgREY H1 (T3 ad)
. QE@—W g YG—WT AT qY § 12 H8 (P9 A F9 5
80 W) (9884 X W 12 WE) /5 20=23721
2 |5 80 A% JERIYUT —23721
gfa 20 23721.00 23721.00




favor TPIS R4 g=RIR (Ui 20)
= ¥ 20 20 TF IS JERMYT —
S S99 /ORE18 B A1ER 4 #0 TS W% el gfd 80 245.00 245,00 -
TY—IRT 23966.00
§ ==msa Ud afedieNT—1 ufdea gl 20 239.66 239.66
T w= S $1E-0.50 gfaerd gfar 2o 119.83 119.83
g [T & B FARE vd Pl /g are e I 239.66 239.66
FEvEE, 399 9 I WR Y —1 ufed
P I FF — RN, SRR /HERR —1 i gfer 20 239.66 239.66
10 |3 IHRAS JI- 2 yfae gfer 20 479.32 479.32
11 |00 - 3647.72 3647.72
g% a¥ &1 A 28931.85
T AR~
1|92 9§ — I HaT1 Bl 117921.00
2 |fgdg ad — geRIvY BRi 56106.00
3 |gciia ad — srRerT HRf (e ) 41849.00
4 [agel af — arReT BRl (R a¥) 36955.00
5 [U9H q¥— 3ReYT B (qefr ) 32061.00
6 |TeH 94 — 3rReT B (age av) 32061.00
7 9 Y — SReYT BRI (W ) 32061.00
8 [3med q¥ — 3rReT BrRi (Yo qv) 28931.85
9 |9 94 — argReT B (W 9v) 28931.85
10 [S¥F Y — IREYT B (3reH ) 28931.85
11 |TPIEY Y — SFREVT B (99 qv) 28931.85
12 |g1SY 99 — 3FRe"T H1d (97 Iv) 28931.85
v?w gaqu%;i? qa:h;: gﬁw?m:? B 493673.25

facia o 202425 % fAfeiT & SR 3 TR P I W0 4,93,670.00 /20

RS R ¥ TN 4 0.360 X 2 = 0.720 0 4,93,670.00 = w0 3,55,442.40
ar wo 3,55,442.00

(w0 o oIRg TEEwE ORI W) qATehw) A

1

Ifwg)
AR,

AT g9 YA, 9|



